
Step #1
Attach SpaUmbrella base stand to the bottom bracket assembly using 
(6) 10 x 3/4” long flat head screws with (6) #10 regular flat washers and 
(6) 10 nylock nuts (see Fig. 1).

Step #2
Slide the SpaUmbrella base stand underneath the spa at the preferred 
umbrella location.  Attach the SpaUmbrella base stand to the spa using 
(2) #12 x 1-1/2” phillips pan head wood screws and 1/4” regular washers 
through the top 2 holes in the base stand (see Fig. 2). 

Step #3
Insert the umbrella support post (supplied with your SpaUmbrella) into 
the SpaUmbrella base stand and rotate the post so it curves away from the 
spa (see Fig. 2).

Step #4
Slide the SpaUmbrella onto the umbrella support post and connect the (2) 
socket button head screws and binding barrells supplied with the SpaUm-
brella    (see Fig. 3).

Figure 3

Do not use the SpaUmbrella in high wind 
condition (greater than 10 m.p.h).  Injury 

from the SpaUmbrella being blown over and 
impacting the spa user can occur.

th

S
I

Step #5
Attach the crank handle to the umbrella crank using the #8 x 3/4” 
black zinc pan head machine screw supplied with the SpaUmbrella 
(see Fig 4).

Installation Instructions - Updated as of  09/14/18 

Figure 1

Figure 2

SPA UMBRELLA 180914

SpaUmbrella

Slide under spa

Curves away
from spa

A & E

B & C (6x)

D (6x)

Umbrella
support
post

Figure 4

Screw

Crank Handle

Umbrella
Crank

ITEM PART# DESCRIPTION QTY
A 101283 #12 X 1-1/2" PHILLIPS PAN HEAD WOOD SCREW, BLACK 2       
B 101285 #10 FLAT WASHER, BLACK 6       
C 100942 #10 NYLOCK NUT, BLACK 6       
D 101284 #10 X 3/4" FLAT HEAD SCREW, BLACK 6       
E 100895 1/4" FLAT WASHER, BLACK 2       


